FHArZE oA 2l %E|O|‘D|E(?E|.T'_ 100 °C).

ol E2
.
B AEO| UE &R LIEE ME5IH & Z 247t ER3HX| etot gt
HlW &2 U Bdo| M EDR e HISY OME £ 4 Aa
(i
Z2/ot0|E 2 FYge 2ol Lido| A&LICt
B AEO|UE &R LEE {3 HASE = UaLIct T EF 9
saglo] 23 FSH EEYS ACIDR, ZY LEE ASY + Ud
LICt.
=M
H2
i -
A
™
Q Q 7]
H1
\
\
— H
E529%
Bl AR A=SRHE
FEHS D1 D2 D3 H H2 HA1 T (0]
K1918.10 M10x1 18 15 76 0,5 44 15 3
K1918.12 M12x1,5 21 18 9,2 0,5 57 1,5 3
K1918.14 M14x1,5 24 21 10,7 0,5 6 1,5 4
K1918.16 M16x1,5 28 24 10,7 0,5 6 2 4
K1918.18 M18x1,5 28 24 10,7 0,5 7,3 2 4
K1918.20 M20x1,5 32 27 9,6 0,5 6 2,5 4
K1918.22 M22x1,5 38 33 12,7 0,5 7 2,5 5
K1918.24 M24x1,5 38 33 10,7 0,5 6,2 2,5 5
K1918.28 M28x1,5 44 38 11,2 0,5 6,9 3 5
K1918.30 M30x1,5 44 38 1 0,5 6,5 3 5
K1918.32 M32x1,5 50 44 11,2 0,5 6,6 3 5
K1918.35 M35x1,5 50 44 11 0,5 7 3 5
K1918.38 M38x1,5 53 47 12,2 0,5 6,6 3 5
K1918.40 M40x1,5 56 50 12 0,5 7 3 6
K1918.42 M42x1,5 62 55 15,2 0,5 10,6 3,5 6

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



